=]

A IR,

YEAR : 2003

A man rows a boat 18 kilometres in
4 hours down-stream and returns
upstream in 12 hours. The speed
of the stream {in km per hour} is :

o e G H N A9 9 46 H 18
7. . gt ma wa ? ol v @ wReRE
fem H 129 arvw amm £, @ aw A
(fodt ooy wr =2

231 (BLS (g2 (d) 1.75

A boat goes 20 km downstream in
one hour and the same distance

upstream in two hours. The speed
of the boat in still water is

TF T 9w T A 1w § 20 GRAL
Th g w & o ol B Th owm &
whie fam ¥ 29 A T w1 2, 9 v

ol g %1 i wa
{a) 15 km/hr (b} 10 km/hr
(c) 5 km/hr (d) 7.5 km/hr

A man rows 750 m in 675 seconds
against the stream and return in

1
75 minutes. Find his rowing

speed in still water,

T =i 9 & ufdam 750 WL 675

qvg ¥ v sk 7% firte § =9 3@

£, 3 wia o@ A 3T oft a w=

{a) 3 kmph (bl 4 kmph

{c) 5 kmph {d) 6 kmph

A boat goes 6 km an hour in still water,
it takes thrice as much time in going
the same distance against the
comparison to direction of current.
speed of the cwrrent {in km/hour)
TF A WA A ¥ 1 H 6 T Fi

FFE T IS P iy
mﬁﬁm%aﬁmﬁqQX!vE}%
( >

# a yry = fa I

@4 (BS ()3

Y
A boat goes strem in 8
hours angd stream in 6
hours. of the boat in
still water\ji

T TE g WY 40 fE, um ® v
e 7 vt & wAfE 6 52 A 36 FRHl. wm
=t Ren § <t #, 9t wia I@ G ™ Ak
0 it ?

(@) 6.5 km/hour (b} 5.5 km/hour
{c) 6 km/hour {d) 5 km/hour

R B A P o G S S

®

)

10.

A man can row boat at 5 kmph. in
still water. If the velocity of current
is 1 kimph. and he takes 1 hour to
row to a place and come back, how
far is the place ?

I 5@ o e wfe 5 fR L g #i nfa
@ HeF wer TEa & 7 9 S Afa 1 RE
wfa bz g, @ 97 15 o fau wm w e
3 = &, 7 98 A feaft g @ ?

(a) 2.5 km (b} 3 km
{¢) 2.4 km (d) 3.6 km
YEAR : 2007

A motorboat in still water travels at
a speed of 36 kmph. It goes 56 km

upstream in 1 hour 45 minutes. The

time taken by it to cover the same
distance down the stream will be :

g I § OF HieER T i 36 fRE/g

2 a7 @ whem 1::%451“:1141?{ &%
frah, 3 T 70 et 3, A THRGA K.

o o # e T o %
(a) 2 hrs 25 min. [hgé rs :
{c) 1 hrs 24 min. (d) }.%21 min
o 1
A man can row M}éed of 45

km/hr in stifl wigtef. If he takes 2
times as 0 row a distance
upstreatn #s %o row the same

distanée downstream, then the

.gpeed of stream (in km/hr) is
e o T A ) 4 km/h#

o 7 Fort W § o 9 P A 5 g
.7 e §1 I # gt i W s e
#% <A o | T Fa E, @ a5

(Frl. /v W) 7 =

@l M15 ©2 @25

The speed of a motor-boat is that of

the current of water as 36 : 5. The

boat goes along with the current in

5 hours 10 minutes. It will come

back in

TF HiEe T 9 1 S 36

5?1 WizER sy F g s a0 §

o &, ° = et T F 9oy swen ?

{a) 5 hrs 50 min (b} 6 hrs

{c) ® hrs 50 min (d) 12 hrs 10 min
YEAR : 2008

A man can row 15 Ekm/hr down-
stream and 9 lan/hr upstream. The
speed of the boat in still water is :

11.

12,

13.

///I//////II/////////?Il///III/////I////Il///lll///IJ///II/////////)/////J’////I/////////J’/////I////;'V////////

BOAT & STREAM

o B A R A A T A o o T O P S B S A 53

.

-

T T B o o o S ///l;

T =fEE @ 9 9 w5 fTm ¥ 15 fEA
3 =i & wfa 9 T umw i wieaw e A
o Frll. wfa w2 = nfa A w1 wa &, A v
el # a $ 7 w2

(@) 8 km/hr. (b 10 km/hr.

(¢} 15 km/hr. (d) 12 km/hr.

In a fixed time, g boy swims double
the distanoe alng the current that
he swip&\a@in'%} the current. If
the sﬁi{d of ‘turrent is 3 km/
hr, the*$P8% of the boys in still

water is :,_@,@
o e a9 A vF T vw & v
it wfmi APy

.31 fom ¥ ¥ & 3R 3 R 3

4
\g"/ wa #, 4 w0 o o e < e 7

W B 2
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{a) 6 km/hr (b} 9 km/hr

(c) 10 km/hr (d} 12 km/hr

A man goes downstreaun with a boat
to some destination and returns
upstream to his original place in 5
hours. If the speed of the boat in
still water and the stream are 10
km/hr and 4 lan/hr respectively,
the distance of the destination from
the starting place is :

T =fad A9 Y 4w T F fed wm
R e § ST 9 S e Ry o
fra =M w552 1 =9 o s &) Al
wIid <& ° 9 i T a4 a6 i e
10 &R /5 7o 4 Fapril. /e 3, o yord

fga ARG
(a} 16 km (b) 18 km
(c} 21 km {d} 25 km

Two boats A and B start towards
each other from two places, 108 km
apart. Speed of the boat A and B in
still water are 12 km/hr and 15 lan/
hr respectively. If A proceeds down
and B up the stream, they will meet
after.

3 T AT B ST 2T I D TH-TH
! TF Tew 3 WA R # f W g
10T, &) a9 & T8 AN 9 B
#i nfa wHR: 12 fEf. g2 a 15 fF
/AT A A 9T R e A st S ¥
91 B ¥R 61 Wi e W ant wee €, A

3 fart 2 B g el ?
{a) 4.5 hours {b) 4 hours
{c) 5.4 hours {d) 6 hours




14.

15.

16,

17.

18.

(a) 1 km/hr

Speed of motorboat in still water is
45 kmph. If the motorboat travels
80 km along the stream in 1 hour
20 minutes, then the time taken by
it to cover the same distance against
the stream will be :

i 9w o UF AieEie W vl 45 fe s
#1 3if Tz w0 F fm F go fEaft Th
ivm ofre i v &, G e @
h um & yiram fn A et LA =
F

{a) 3 hrs (b} 1 hrs 20 min
{c) 2 hrs 40 min (d} 2 hrs 35 min

YEAR : 2009

A boat running rows downstream
covers a distance of 20 km in 2 hrs
while it covers the same distance
upstream in 5 hrs. Then speed of
the hoat in still water is

& A8 ur F Ew d 2w F 20 fad
=0 74 T & FAF i € o v w
et foan § 5 o2 4 5 F &, @ wia v
o A i A T\ w2

{a} 7 km/hr {b) 8 km/hr
{c) 9 km/hr {d} 10 km/hr
YEAR : 2010

A boatman rows 1 km in 5 minutes,
along the stream and 6 km in 1 hour
against the stream. The speed of
the stream is

wF g uw w o ¥ 1 e gh o5
firre & w4 FT @ 3w i fam d
6 FFA gh 1R H T wa &, A g
Tfa 9@ w=E ?

(@) 3 kmph (b) 6 kmph

(c) 12 kmph (d) 12 kmph

A boat covers 24 km upstream and

36 km downstiream in 6 hours,
while it covers 36 km upstream and

24 km down-stream in 65 hours.

The speed of the carrent is :

T T 6% T uW P W 24 RS
3o wm = faen § 36 fFod. 38 7@ wT

8. 2%m/nr

(¢) 1.5 km/he, {d)'@.5 km/hr
The speed of A%odk in 'still water is
10 km/ba.. It c‘gver"s (upstream) a
distance o{‘%ﬁ “in 6 hours. The
speed (in kmﬂ’l‘} of the stream is :
wiia wa ¥ T W F 1 10 fe, o w
®, 9% U % W 45 fEW. gl e w2
w1 % &, 9 9 = i (Readls ) Te
27

(@) 2.5 km/h
{c) 3.5 km/h

by 3 km/h
{d 4 km/h

19.

20.

21.

22,

’i;%‘;.&;
wafs T 6= u%ﬁuma‘;uﬁrmagﬁ '

ﬁmmaﬁﬁmﬁ%ﬁﬁ.gﬂaﬂ
T, R U W R AR

24.

A boat goes 12 km downstream and
comes back to the starting point in
3 hours. If the speed of the current
is 3 km/hr, then the speed (in km/
hr) of the beat in still water is :
% Ty = e ¥ 12 A @ @
FT & 7 SIS fag W 3§ F Ay 3
W #) A aw F A 3 RS A
WA el | A F 1 g w2

{a) 12 km/h (b} 9 km/h

{c} 8 km/h (d) 6 km/h

A sailor goes 12 kin downstream in
48 minutes and returns in 1 hour
20 minutes, The speed of the
sailor in still water is :

T it uwy Fi g A 12 R g0 48
e & 79 Fea & AR oy fig W1 =R
20 foe A =98 31 WM ¥, A W 9@ §
e =1 A w7

(a) 12 km/hr {b) 12.5 km/hr
{c} 13 km/hr (d) 15 km/hr
YEAR : 2011

A man rows boat 40 km upstream
in 8 hours and a distance of 36 km
downstream in 6 hours.

T =R i @ whem 40 B AR s

2 F 7w & 9 o e Wefeh.

Th e § 7w ¥, A W w2
{a) 0.5 km/hr (b).1.5 km/hr

{¢) 1 km/hr (dy Q keg /hr

A boat travels 24 km pst in 6
hours and 20 km _pﬁwn}stream in
4 hours. Then the ‘¥peed of boat in
still water and the speed of water
current are respectively.

T 4R & A4 e gt e R A

7w & i W& fren F 20 fRA
428 o 36 ¥, A wia 9@ o 7= Fioofa

m@nzﬁnﬁlmaﬁ ?

(afs# Femph and 3 kmph
(b} .5 kmph and 0.5 kmph

 (¢) 4%onph and 2 kmph
.. +(d) 5 kmph and 2 kmph
<% 234 1f a boat goes 100 lan down-stream

"’m 10 hours and 75 km upstream
Jn 15 hours, then the speed of the
“stream is :

o+ v A| um = e o 100 fEA 0
102 § 73w # o ar % wfem 75
ferl, 5 1592 o 99 FT B, @ 40w

o3 | w7
fa) 2 km/hr (b} 2.5 km/hr
{c) 3 kan/hr {d) 3.5 km/hr

The speed of the current is 5 km/
hour. A motorboat goes 10 km
upstream and back again to the
starting point in 50 minutes. The
speed {in km/hour} of the motorboat
in still water is

ar F A 5 fEdL D 21 T e 41
% Wi 10 f6H. < 71+ ¥ 3w 50
fige W il fig W oW s w6 2, 9 i
et & HietEies! 1fa (ReHlE2 ) | #t 2
@) 20 (b) 26 (c) 25 (d) 28

Then
speed of stream is : A

25.

26.

;&

28.

29.
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The current of a streamn runs at the
rate of 4 km an hour. A boat goes 6
km and comes back to the starting
point in 2 hours. The speed of the
boat in still water is

o F T 4 Bkt # @ WefwdL #
TR T wd & a2 W W e iy w A
EECER RokEckk ook ok ke
{a) 6 km/hr (b} 8 km/hr

(¢) 7.5 km/hr  (d}) 6.8 km/hr

A man swims downstream a
distance of 15 km in 1 hour. If the
speed of the current is 5 km/hr,
the time taken by the man to swim
the same distange upstream is :

o = e g d st 5h
w2 F b 2 e A A 5 fE/s
3, 3 o s e A T B o AR
% TR foben T T 2

{a) L. hr 30%nin (b} 45 min

{c},2 hr 30 min (d) 3 hrs

A mag can row 30 km down-stream

; and return in a total of 8 hours. If
* thet‘speed of the boat in still water

i¢ four times the speed of the
current, then the speed of the
current is :

TF =afE 8 T | ura wt faen ¥ 30 R,
%6 7w A o i ) af i e §
TR TS MA S SR, Y
T 1 T AE w2
(a) 1 kn/hr
(©) 4 km/hr

(b) 2 km/hr
(d) 3 km/hr

1
A person can row 7"2- km an hour

in still water and he finds that it
takes him twice as long to row up
as to row down the river. The
speed of the stream is :

@aﬁammﬁ‘vé fo g8 1 A

7 T T A ¢ T ur s I
% guF s IR F e E S
o &, @ a = v A =l

{a) 2 kin/hr (bl 3 kin/hr

1 1
(© 25 km/hr  (d) 3~2- km/hr

A man can row 6 km/hr in still
water., If the speed of the current
is 2 km/hr, it takes 4 hours more
in upstream than in the
downstream than in the
downstream for the same distance.
The distance is

wMia WA O st W T 6 fE A
Oy W & T 2 feedas & @ g w6
faen o B A F O T T 8, 3
4 5 siferr T o e fam 9 s
A h T w0 o @ g I w0

fa} 30 lon ib) 24 km

{c) 20 km (d} 32 km

345



30. Speed of a boat is 5 km per hour in
still water and the speed of the
stream is 3 km per hour. If the
boat takes 3 hours to go to a place
and come back, the distance of the
place is :

wIia et § 9 B W s e s taw g
T 1 3 el e b ARk T sva A
foreht gt 7% SRt aow o W &, W TR
Mm%t ?

{a) 3.75 km (b} 4 km

{c) 4.8 km (d) 4.25 km

YEAR : 2012

A boat covers 12 km upstream and
18 km downstream in 3 hours,
while it covers 36 km upstream and

31.

24 km downstream in 55 hours.

What is the speed of the current ?

A 3 uE 12 fRdt @ oam B
wiage aen 18 Tl T ww #7 fxwn o

| ¢, s 9 6% s H 36 F.

H. T W % wiew@ @ 24 AL o
ura &1 fem ¥ 79 w2, @ o
W ?

{a) 1.5 km/hr {b} 1 km/hr

{c) 2 kem/hr {d) 2.5 kin/hr

A boy can swim in still water at a
speed of 10 km/hr. If the speed of
the current would have been 5 km/
h, then the boy could swim 60 lm.
wid 5@ § TF weH 10 FRAfla i afa
¥ T v &1 wfx w5 R
B, 1 TIgH 60 it 30 forer wvg 4§ w2
(a) upstreamn in 4 hours

(b} downstream in 12 hours
{c) upstream in 6 hours

[d) downstream in 4 hours

A man can swim at the rate of%y
km/hr in still water.

32,

33.

of the water is 2 km/hr, then the ¥
10 km

time taken by him to swi
upsiream is :

wia 9 § % =t 4 1§,
%tmimﬁﬂmaﬁ
Aunw i
T AN 2

17 1
{a]22 h {b}32 hrs
ic} 5 hrs id) 4 hrs
The speed of a stream is 3 km/hr.
and the speed of a man in still water
is 5 kun/hr. The time taken by the
man to swim 26 km downstream is :

o Y i 3 fRALAR # ok wia ww o

=]

34.

If the speed

U =i # I S TR 3 O a
4 26 FR. 38 a7 fro W W S 2

2 1
(a) 85 hrs ib) 3; hrs

1
[c¢) 13 hrs (d) 5"5- hrs

35. The speed of a boat along the

stream is 12 km/hr and against
the stream is 8 km/hr. The time
taken by the boat to sail 24 km in
still water is

ur F1 fowm F @ w fa 12 e 3

3R gr = R 19 Ft vk 8 e e

taviRom A4 fed i masad wa

=t foFe = T 2

{a} 2 hrs {b} 3 hrs

{c) 2.4 hrs {d) 1.2 hrs
YEAR : 2013

Speed of a boat along and against
the current are 12 km/hr and 8 km/hr

36.

respectively, Then the speed of the I%%
E:
s

current in km/hr is :

maﬁﬁwﬁmm%uﬁmqﬁ%@%

4
A

40.

-

wfa e 12 FA/A qa SW%’QN;‘?

at ur F 7 9w

@s (b4 ic) 3. ()2
A man can swim 3 kmﬁzr in still
water. If the velomgy ﬁtl& stream
is 2 lan/hr, the tm'@fak& by him to
swim to a place ,l-& km%tlpstrea.m and

. ’.

37.

{aﬁ&“ hr
(c} 12 hr
d

#38. A swimmer swims from a point A
against a current for 5 minutes and
then swims backwards in favour of
the current for next 5 minutes and

(b) 10 hr

1
) 87 hr

comes to the point B. If AB is 100
metres, the speed of the current (in
km per hour) is :

uF Fw, A iz & um 3 ofimm s e
7% o 2 #i ura = fren | o 5 e
o Bfag W o o 9@ ) I AB R 99
= 30 100 ¥, @ ym w5 R (FE
wa 4) R ?

@04 102 (01 (4 06

A person can row a distance of one
km upstream in ten minutes and

downstream in four minutes. What
is the speed of the stream ?

39.

42.

43.
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% = u % wege 1 fEdE @ 10
e ® 99 T ¥ 3 oy ) Toon 6 e #
T 4 o ¥ T =@ €, 9 a0 = f T
)

(a} 4.5 km/hr {b) 4 kan/hr

{c} 9 km/hr td) 5.6 km/hr

A man rows down a river 15 km in
3 hrs. with the siream and returns

1
in 75 hrs. The rate at which he

rows in still water is:

w =fE T Ft v W fn § 15 R

REES re TR 7% w9

WWL\ Wi S N IR T

{a) !’gp km?hr {b} 1.5 km/hr
w km/hr (dj 4.5 km/hr
4 moves downstream at the rate

: 1
“%ﬂlkmin7—
) 2

L

i

minutes and

upstream at the rate of 5 km an hour,
What is the speed of the boat in
the still water?

& 7% 2 F 1 ke % T A

v dadt sk 1R T s5m =
i & St weE W o #) e W o A
F} ofa Rt f

1
{a) 8 km/hour (b 6—2- lem fhour

{c) 4 km/hour (d) 3% km/hour
{(CGL Mains 25-10-2015)
A boat takes half time in moving a
certain distance downstream than
upsiream. The ratio of the speed of
the boat in still water and that of
the current is
T W T 73 T T W B v W
T H AR w o WW § s meg
T &) feor 9@ W A 1 ol 30 w0
e =1 AT TN T
a 2:1 (b} 4:3
fc) 1.2 d 3:1
(CGL Mains 2014 / 12-4-201%)
A man rows upsiream 36 km and
downstream 48 km taking 6 hours each
time. The speed of the current is:
T f¥a A 36 fFN wm wi wiaws fow F
3 48 fFdft freel yae d A TE A 6
pocaeich R CHE G K
(a) 0.5 km/hour (b 1 km/hour
(€} 2 km/hour (d} 1.5 km/hour
{CGL Mains 2014 / 12-4-2015)




44. A man rows 12 km in 5 hours against

the stream and the speed of current
being 4 kmph. What time will be
taken by him to row 15 km with the
stream?
% =afF wfa 99 § A 9 12 PR
F ¢ 52 # 79w 2, foow
F nfa 4 fw. . ft wzm ) 9% srqyEw
w A" | 15T f g faa v o
73 F1 ?

(a) 1 hour 27 minutes

7
{b 1 hour 24 13 minutes

7
{c) 1 hour 25 13 minutes

7
{d) 1 hour 26 73“ minutes

{a) 17 km/h (b 17.5 km/h
{¢) 19.5 km/h  (d} 19 km/h
(LDC 06-12-2015 Morning)
A boat running upstream
takes 5 hours and 40 minutes
to cover a certain distance,
while it takes 3 hours to cover
the same distance
downstream. What is the ratio
between the speed of the boat
and speed of the water current
respectively?
wF @ U & Yiaee T W IE
fafraa 0 =t @ =& F fom
5= it 40 fre ot €, wEfw
SR e S M W 3R A Q@
= ot & = e o O w8
T & st 6 ITIE FW A2

47.

&

TF 7@ YA ° g F faufa o o
3% # 75 fEhl. st v & e
1.5 % | 60 fopel. It &1 wia <t
W 9/ @t = F e ?
(a)32.5 kmph (b) 30 kmph
{c) 65 kmph  (d) 60 kmph
($8C CPO{Re) 07-06-2016, Evening)
50. The water in a river is flow-
ing at the rate of 4 km/hr. If
the width and depth of the
river is 8m agd 4m respec-
tively, thm w much water
will entéy a in 15 min-
utes. 7:;.; .:,:_:_.:.,_ !
P -
wm & A w e ok T
B et ai‘l'{ 4t 15 fire
i TR ¥ WA s

{LDC 1-11-2015 Morning) (a)13: 4 (b)20:1 :

45. A‘ man fows to a place 60 km (c) 19 : 2 (d1:19 A60000 m®  (b) 18000 m?
distance and back in 13 hours 30 ) 78800 m® {(d) 32000 m?
minutes. He finds that he can row (SSC CPO(Re) 04-06-2016, Morging): : (c) m* {(d) m
5 kon with the stream in the same 48 The speed of a g & | (88C CPO(Re} 08-06-2016, Evening}
ti as h w 4 k inst . : c
time as he can sow 4 km against ' gounsream is 15 km/APpde S1. A man rows to a place 35 km
stream. the speed of current is 3 k in distance and back in 10
wF =R 60 fRdt % T 7= = arE hr. Find the tot taken hours 30 mintues. He found
s # 3i 1352 30 fome § wow ov by the boat to co %5 km that he can row 5 km with the
RiEEIFEER S I TR TR upstream stream in the same time as
s et o wEa § foe e ¥ 9 ufR downstream he can row 4 km against the
v 4 4 s 1 T ) YA 9 W stream. Find the rate of flow
L ‘::[ Eﬁ'ta 'rrﬁllz of the stream.

Yy Vora & 15 s % =@ 74 | 35 fei. w g

() 8km/hr () /p dem/hx Lo ';aﬁl - o oK <R W 10 a1 30 fre W
{c) 10km/hr (d) tki/hr & orE ] 4

(LDC 1-11-2015 Morning) o e oW 99T T2 & = W § A A o o

46. A motor boat covers a certain . . ™ & WY 5 fedt a3 v % EoLiil
distance downstream in a riv_er in __ . \\{a) hours 40 m¥nutes o U A 9T 9N F m 4 .
hours. It covers the same distangE§ (b} 2 hours 42 minutes
upstream in 3 hours and half. If e sag X 79 @ ¥ R $ TE @ B

¢) 3 hours 10 minutes
speed of the water is 1.5 km/h, therly faeii/e
the speed of the boat in still water is: § {d) 2 hours 30 minutes {a)1 km/hrs, /ad
: (88C CPO{Re} 06-06-2016, Evening) (b) 0.75 km /hrs, fdrEa
49, A boat goes 75 upstream in 3 (c) 1.33 km/hrs, fedia
hours and 60 km downstream .
in 1.5 hours. Then the speed (d) 1.5 km/hrs, feirda
of the boat in still water is: {88C CPO{Re} 08-06-2016, Evening)
ANSWER KEY
1. (b 6. (o} 11. (b 16. (@ 21. (@ 26. {d) 31. (o) 36. (d) 41. () 46. ()
2. () 7. (¢ 12. (o) 17. (b 22. (b} 27. (b) 32. (d 37. () 42. (@) :;‘ (@)
3. (o) 8. (b 13. b 18. (@) 23. (b) 28. {¢) 33. (e} 38. {d) 43. (b} ¢9. :::
4. (© 9. {0 14. {c} 19. (b) 24. ) 29. (@) 34. () 39. (a) :‘5“ ‘;‘] 50. (d)
5. ) 10. (@) 15, (a) 20. fa) 25. (b} 30. (o) 35. (o) 40. (o} @ 5
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1. (b) Let the speed of boat in still water
(7T 1% 9Fa 9 # | ) 0f)e xkm/h
Speed of stream (¥R #T M) = y km/h
Speed of boat in the downstream, D
(a9 it o F @ B D)= (x+ y) km/h
Speed of boat in the upstream, U ( &/
F WidEa T F )= (x- y) km/h
Distance to be covered (Th)= 18 km

18km o

D= x+y =_51_-5 km/h....{i)

18km 3
U=xX-¥""on =3
On solving (i) and (i)

g 3
2 2 _6
:—-—-—=—=1.5k hr.
Y¥="3""2 m/
ALTERNATE:

Speed of stream (Sl Tﬁﬂﬁl)=% (D-U)

1
Speed of boat (7™ Ft Mfa)= 3 (D+)

Now, By using those above Formula's
Speed of Stream (HMIU FHT Q)

1{9 3
'522'1.5

2. (a) NOTE: for detailed solution check
carliers question. (ffv@ = @ =
e

Downstream speed, D (W0 37 fow & fa)
20km
1hr p
Upstream speed, U (471 # wiagst
20km
2hr

Speed of the boat in s mem
W
& H 9 ) = éi‘,

= 20 km/hr

= 10 ki /hr

_ 20+10 hr
C2 2 /b
3.  (c) Speed stream, U (YA &
wige )
750 10
—=""m/s
675 9

Time of downstream (9% = fym =1

1
a9g) = 75 minutes = 450 seconds

R R g e A

VJ/////J’//A‘?///:'////////I/////l7////////_///[//////////////////I///!////I//[//////M///AI////////I(//I/////////ly//////ll///ﬂ////I///////////////////J’////l////////////ll//,(//////W////IV//II///I///I///IA’//Af///7////////////}////17//42///////17//////5;
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SOLUTION

e

{~ Boat will
downstream 713 4R %1 fem & oo s
Speed of downstream, D (I #}

7
fq) = % m/s = -gm,a’s

', Speed of man in still water (¥

o1 4 vt )y - DO

Let speed of the stream {
F M) = y km/h x;,
Downstream speed (w # Ay )

= (6+y) km/h
5'3%?@ )

(¢) Speed of boat in still water, x (
o § T A M) -6km/h A &I\ ;

Upstream speed {

L6+y=18-3y

4y = 12
y=3

", Speed of stream {¥T0 F1 =fa)
= 3 km/h.

(b) Speed of upstream, U (Y1 & W@ g

40

) = =5 kan/h

Speed of Downstreamn, D (39 #1
36

) = Y = 6 km/h

Speed of boat in still water, x (I

X D+U
@ ¥ 99 F 0fa) = *
“5+6-” 5.5 kim/h
T2 2 /
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O o

return in the 6.

Z
7
1
Z
2
2
Z
%
H
H
Z

/

o 0 o,

(c} Speed of man in still water, x
(W4 9% | safEd @t 7M) = 5 km/h
Speed of currant, y (910 &1 nf)
=1 km/h.

Speed of downstream { F¥YA® ®i )
=x+y=5+1=6km/h

Speed of upstream (¥ & viwHw afq)
=x-y=5-1,A km/h

Accordin ,5 tB @uestwﬂ,

D D

—+=

6 4
2D £3D
D =412

= = 2.4 km.
5

{c) Speed of motar boat in still water,

x (W ¥ H T F ) = 36 kin/h
Speed of upstream, U (901 & Yiwa

According to the question,
x~-y=U
36~y =32
¥ = 4 km/h.
Speed of Downstream , D (3 YA Hi
TE) = x+y
=36+ 4
= 40 km/h
Time taken to cover the distance

downstream (410 &t ¥ & Tt o1 w1
= ‘12h
40 s

= 1 hours 24 minutes
(b) Speed of man in still water, x (374

¥ @ 7w

& ¥ =i F ) = % km/hr
Let speed of stream (WFT T 9FT &+

M) =y km/h.
Downstream speed (349915 #1

9
) - [5*‘3)

Upstream Speed (41 % W@ wfd)=

(5-v)




According to the question,

Distance Distance

-] G

k.

2x2 2

9+2y ~ 9-2y

2 1
9+ 2y T 9- 2y
18 -4y = 9 + 2y
6y =9
g 3 .
=== ==15
y=g - 18 /
9. (¢} Sincetheratiois given (afm EENIn!
f&n 7 %) 36: 5
Let the speed of boat in still water
(¥ =& 8 A H M) = 36 km/h.
and the speed of the stream ( A R
# W) = S km/h
Downstream speed (3Tq9a® F1 7fa)
= 41 km/h
Upstream speed (9 & Wfaws 7fd)
= 31 km/h
Distance = Downstream speed x
31
Downstream time = | #1* s k.
Upstream time (40 & fem §  afa)
31
. 41 % —
Distance 6 41x31
Upstrea.m speed 3t _6_';"5‘1_'
41
= I =66h-6hrs 50 min.
ALTERNATE:
1
VC( —
T
Moh
Vo T
36+5 x
36-5 31/6
41
x= — hours
6
= @hrs. 50 min.

10.

12.

13.

td) Downstream speed of boat, D (4T
#i fan ¥ 7= # 7a) = 15 km/h
Upstream speed of boat, U (¥R
wfa®a ™ #1 M) = 9 km/h

Speed of boat in still water, x (¥

.. D+U

W H T F ) = ;
15+9 24 2 lon/h
9 ---2—1 m/h.

(b) Let the speed of boy in still water
(O 1 I W AT B M) = xkm/h.
Let the speed of current, y (WA W
g W 1Y) = 3 km/h

Downstream speed ( 37¥aE &1 1fq)
= {(x + 3) km/h

Upstream speed (YA & Wfaazt Tfd)

= (x - 3) km/h

According io the question,

Let the time = t hours.
x+3p =t =2Hx - =y
(x+ 3 xt =2 x-3 =t
x+ 3 =2x-6

x =9 km/h.

[c} Speed of the boat in still water,
(O W § WS W W = 10 kmy/h
Speed of the stream (41 F1 1) = 4 kan/h
. Downstream speed (91 &} fawm #
W) = 14 km/h

Upstream speed ( 10 % wfimwa nfa)
=6 km/h ’

Let Distance (AM & 3{)= M km.

M M
+ - = 5 hours

10M = 42 = 5

42x5
= -2 =21 km.
10

ALTERNATE:

2.D

T= 2772
x“ -y
_ (10°-4)5  84xS

2:10 20

= 21 km.

() 108 kmn——s

A(l2Z+y)— —({15-y] B
Let the speed of stream (¥ %
=t Mfd) = y km/h
Since Boat A is moving downstream
with 12 km/h (1@ A 970 %t fam 4 12
frr w52 A A A e W )
Speed of boat A (/& A Fi )

= (12 + y) km/h

14.

15.

16.
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Since Boat is moving upstrearn with 15
km/h (78 B 90 & w15 fe. s 1
THa @)
Speed of boat B (7@ B Fi Tf)

= (15— y) ken/h
++ Both the boats are moving in
opposite direction, (A1 T faoda
H e w 8)
Relative speed of A and B (A 391 B &
WYY W) = 12+y+15-y = 27 km/h

Time = —————— = —— = 4 hours
Relative speed 27

{c) The speed of motorboat in still
water, x (¥ Wat § Wi @tz #t 1M7)
= 45 km/h _

Downstream speed ( 4T #t feen # 7fq)

y=15km/h
Upstream speed, { 8T % Wiaw 1)
=x-y =45-15
= 30 km/h
Distance

Time = ————————
Upstream speed

80 8
= - = h = 2 hours 40 min.
30 3
(a} Downstream speed, D (90 1 fa7m
¥ "
g afa) = ;- =10 km/h
Upstream speed, U { 411 % Yfa&a &)
20km
= Shr =4 km/h
Speed of boat in still water (¥l i1
D + U
T F M) =
2
10
== =7 kmjhr
(a) Downstream speed, D (90 %1 fewn
lkm 60
| wfa) = = 12 km/hr
5 5
H0
Upstream speed, U (¥ & Sfase 71d)
okm
= In = 6 km/h
Speed of the stream, (M@ Ft Ta)
D U i2-6 6
— = = - =3 km/hr
2 T2 2

34¢



17.

18.

(b) Let speed of boat in still water (AF 12 12 22. (b) Upstream speed, U (Y1 & Wiaas
1 W S A A M) = xkm/h % byt g3 24 12
Speed of stream current (YT &Y 7fa) Speed of the current, y (W% &1 ) = 6 3
=y km/h nfa) =3 km/h =4 km/h
ATQ o " Downstream speed, D (M7 =1 famn
24 36 . Jnr+3+;c—3= ) =~2£-5km,fh
X-y * xX+y =6k 1) In such type of question take help 4
from the options to save your valuable *. Speed of boat in still water, x (T
26 24 13 time. (T4 THFR H ¥ei °H 71 Ig7ed 90
i ' D+U
Zh (ii) T 7o) % g sl ! wrE o) _pb+Y
1Y x+y 2 Take option (b) x = 9 ¥ ¥ 7 F ) 2
In these type of Quetions, make 12 12 12 12 9
factor of 24 and 36 and choose the o ATt 12 =3 = — = 45 kmA
common valqes which satisfy the _9+ C:: tlzn [‘1’ lls,2the6answer 2 e
above equations. (39 T$R F g ALTERN Ap'l‘E: Speed c@"& watt;r ent, y {4/ @1 i)
¥ 24 70 36 W PG AR W oD D—dil"§ )
FA W ST A FHR 2T M W T-—5—7 = 2 g’ = 0Skm/h
 Fa #) r -y 23. (Hﬁﬂwnstream speed, D (901 f& fm
24-2,3,4,6,8 @ _ 2xxx12 5 cRTRY
“ 32 s 100
36=3,4,9, @ 3(x2 - 9] = 24x Ed T 10 km/h
Choose the common factor i.e X -9 = 8x
X -8x-9=0 Upstream speed, U (4R & Yaga Tfa)
Put this value in equation (i) X =9-1
75
x =9 km/hr. = — =5 km/h
24 /
+ %E =6 20. (a} Downstream speed, D (%lTlT al-f’l ihem 15
x-y 1o * Speed of the stream, y (911 7% i)
, 2 12xs % D- 10-5 §
24 d= 4 = ms@-lskm;h b-v_ - = 2.5 km/h.
P 5 4 e, 2 2 2
X-y=8 Upstreamspeedgl}(mzﬁ g ) 24. (c) Speed of the current, y (aG &
~ { 1) =5 km/h
xty=lI2 12 l&wg m /h Let the speed of the motor boat in
x+y=12 = =g g w9 km/hr still water (WA & W & § Hew AR
x=10,y=2 ; # M) = x km/h
. e AT
<. Speed of current, y (S0 %1 Tf) the boat in still water (¥TSTeT ?
= 2 km/h. - 10 10 5
(a) The speed of the beat in still water, ﬁﬂﬁﬂﬂ"lﬁl) 15+9 _% =12 km/hr x_+_5+ x-5 6
x (YI=1 et § 4/ Y 9f9) = 10 km;hﬁ} “'\_“Le . ed2  bout in <till wa Take option [c)
! (a} Let the speed o t in still water
Upstream speed,U(uma‘.uﬁa@@é) : WA T W WA & A R )= xkm/h 10 10 10 10
+ —— o —
45 %, ; #Speed of a stream (WM & Tf) = y 25+5 25-5 30 20
= g km/h ¥ lkm/h 11 5
. Speed of boat in Downstream (4T P
45 A 5 fm & 9= 5 W = x+y kn/h 3 2 6
L X—y = r _ '%“{ Speed of boat in Upstream (¥ & .. Option c is the answer.
K‘:& S A B85 ) = x- g kmyh ALTERNATE:
Upstream (9101 %  sfas#) 2xD
= 5 R, 5 T= 37
" - 40 x -y
i =—=5km/hr
8 _ S0 2xxx10
Downstream (91U 1 fgyn #) 60  xi_s52
=3§=6km,!hr 5 20x
e " o -25km/h 6 6 - 25
Speed of stream (WU ®1 ufy) X - 25 = 2dx
". Speed of the stream, y (4 f& 6-5 0.5 ke / h X -24x - 25 -205 .
-—2_p. x=25-
) = 2.5 km/h 2 /o x =25 km/h.
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25. (b) Speed of the stream, y (41 f§ ALTERNATE: ALTERNATE: x = 6 km/hr.
Tfé) = 4 km/h oD y=2km/hr.
Let the speed of the boat in still water Te 7% D:U=(6+2:(6-2)=
(9 15 90 =@ ® 79 % 1) = xkm/h X" -y T,:T,=1: 2
Downstream speed (910 f& f&wn & wfy) Given, x = 4y T‘JER
=[x+ 4) kan/h . 1 unit = 4 hours
Upstream speed (910 & 9fage nfa) 2x4yx30 T. =1 x4 =4 hours
- [x - 8= 2 2 o B
A’l!f) 4) km/h (4y) —(y) T,=2x 4= 8 hours
Distance = D = T
8(16y* - y3) = 240y D
6 6 - x E
+ - 120y® = 240y {6+2)x4 = 32 km.
x+4 x-4 ¥ =2 km/hr. 30. (c) Speed of boat in still water, x (T
Take option (b) 28. (c) Speed of person in still water (3= W § T F ) = 5 km/h
6 . 6 6 . 6 15 . Speed of stream,, y (wra f& fq)
8+4 8-4 12 4 A R F M) = - km/h = 3 km/h o
ATQ & 4 %
_ _1_+ E _ _‘1 -9 Let the speed of current/stream (AT Distarkgg.. tance
2 2 2 FF o f nfd) 5 + > = 3 hours
", Option (b} is the answer. =y km/h On selvin K
ALTERNATE: ATQ Upstream time (4T3 % Wi 994) Digtenoe & 4.8 kan
axD = 2x(Downstream time) ALT“NA‘BE ‘ .
= -y Distance '
upstream speed :
2xxx6 :
2= a0 = Distance A {%@ s‘_*-.:,—
2 - 16) = 12x Downstream speed %& ; %_;'é;; . 2x5xb
X -6x-16=0 9 @3 52-32
x =8, -2 —= .. ¥ 3x16 = 10xD
x= 8 km/h 15 -2y 15+% D = 4.8 km.
26. (d) Let the speed of boat in still water % 31. (c) ATQ
(9F % A1 9@ | 9 fF )= xkm/h.
The speed of current, y (10 & TF) On solving y = 2 *ﬁ fh 18 12 i
=5 kin/h [ et PRI RIS
ALTERNATE: . 3/ | ¥ ¥
Downstream speed (971 #1 fem # nfa) A
= 15 km/h. 24 36 13
x+5=15 + T = — (i)
x =10 km/h. X+y x-y 2
Upstream speed, U (410 = Wz ) 21 NOTE: In such type of Question, take
=x-y=10-5 common values of same types of
=5 km/h. 1 distances and satisfy the given
Distance = 2— km/hr. equation. (59 TFR & WA | UH YHT T
; : 2
Upstream time= - Th %1 39k = # 3R e T e |
Upstream speed _r X
ﬁ } Speed of man in still water, x 0 F 1 ¥4 Fi)
15 $r S ? =fg B i) = 6 kn/h Downstream distance:-
T s T 3 hours. Speed of current, y (¥ F 7f1) 18

27. (b} Let the speed of st eamfmnt
(ar f% o0 fF ) =

and the speed of boa in’ tf&gwater

(3R o 9 § A TR =xkm/h
£ a@E "4y

0,0 B
x+y “ :

b g
30 30 i

=8?)
5y 3y
6 10
y y

y=2km/h

=2 km/h
Let Distance (W & ) = M

ATQ
upstream time = Downstream time+4

. Distance = 32 km.
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ple
24

Upstream distance:-

12
36

Oon

Putting x +y = 12

and x -y = 8,

both the equation are satisfied.
12-8 4

Therefore, y = 5 ~3° 2 km/hr.




3z.

33.

34,

35.

36.

(d} Speed of boy in still water, x (¥4 37.

W@ H FIE® & MA) = 10 km/h

Speed of current, y (1 & 1) = 5 ki/h

Distance = 60 km.

. Downstream speed (91 &1 0 §

7fd) = 15 km/h

Downstream time (MR1 & TR 999)
60

= - = 4 hours.
15

Option [d) is the answer.
Upstream speed { 4% F gfaw@ ufa)
= 5 km/h

Upstream time (471 & Wi o)

{c) Speed of man in still water, x (¥=0

.9 § =af ) =3 km/hr.

Speed of the stream, y { 9191 HT 7fd)
= 2 km/hr.
Upsiream speed (4RI & IRTEA 4)
=x-y=1km/hr

Distance

Upstream time = m

10km
lkm / hr
Downstreamn speed (9% %1 faom 4 nfd)
=x+y=5km/h
Downstream time (9T % Wfaget T99)

= 10 hr.

= —5 = 12 hours. Distance
{c) Speed of man in still water, x (¥ Downstream speed
wa F =3fm #1 1f)= 4 km/h 10km
Speed of water, y (0 # TRT) =2 km/h = sem/h 2 hours
Upstream speed, U (4R % Wiaae wid) ]
=4 -2 =2km/h Total time = UT + D.T
Upstream time, (Y0 & Yagd @) = :g :r *2hr
= rs.
Distance 10 ALTERNATE:
Upstream speed 5 = ° oW 2D

(b} Speed of stream, y (910 F1 7fa) T= o
= 3 km/h <% -y?
Speed of man in still water, x (3

., - ’ 2 3x10 60
= | =@ B 1fF) =5 km/h T= - X2-= == =12 hrs.
Downstream speed, D (90 & ffm § 2 5
) = 8 kan/h 38. () ———3 minutes——s
Downstream time = : [Downsufam

Distance 26 O A B
Downstream speed ~ g i
{Upstream) +~—100 mir=—
13 1
See the figure,

= m 33— X
P 2 hours

{c} Speed of Downstream, D (¥ ¥

& 9 ofq) = 12 kmn/h

Speed of Upstream, U (9 % e

Ma) = 8 km/h

Speed of boat in still water (97 5 4 A4 -

& ) _D+U
2

Time taken by the boat ir still water

(=1 9 1@ g foen m wwy)

24km |
=10 wmyhr 2 hours

{d)} Downstream speed, D (910 =7 fgum

¥ @} = 12 km/hr.

Upstream speed, U (47T F iErm Tla)

= 8 km/hr.

Speed of the current, y (471 3 7fd)
D-U 12-8

3
= —5 " —5 =5~ 2km/hr

= 10 km/h.

OA = distance covered by upstream
speed in 5 minutes (79 fime & ym =

uﬁmmmﬂ%{ﬂ)— (x—yl'

OB = distance covered by downstream
speed in 5 minutes (5 e & am i

. ... 5
ﬁ?ﬂqﬁ'ﬂ?ﬂ"ﬁiﬂ)=63[x+y]

ATQ
OB - OA = AB

5 5 100 K
S oew 310
60 ¥ V60 KT 1000 K

1
+ +y]= —— Kk
Ix y-xty] 1000 ™

On solving

¥ = 0.6 km/hr.
*, Speed of the current (971 &t 7)
= 0.6 km/hr.

39. {a) Upstream speed, U (90 & REH
1km
M) =--—- =6 km/hr
10
-hr
60
Downsiream speed, D(TT &t feen o
1km
) = 4 - =15 km/hr
-~ hr
60
bD-U
Speed of the stream, y = 5"
15-6 4.5 km/h
= 5 2 . fhr.
40. ic) Downstream speed, (910 &1 ffm §
nfa)D
15km
= --- =5km/hr
3hr
Upstream speed, U (4101 % wfasd
af) = e’ =2 km/h
= - = m/hr
15
Speed of man in still water, (¥
D+U
¥ =i =i ) = ———
5+2 7
= = = =35km/hr
2 2
41. (by
{I¥istance) {Ime]
Down stream = lik::‘_"—)_‘:"“
3 km 60 min {Ihour)
Upstream = 5 km Thour
of speed

Speed of boat in still water

42.
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iDowmstream + upstream)
2

= ‘_3_;:5_ 13 _6 km/h

(d) ATQ

Downstream speed ( 471 &t fxwm 7 7fq)

=x+y

Upstream speed( W0 % favla &w & #f2)

Distance

Speed = Time

D

Lxrye e i)

D
2T
Solve equatton (i) and (ii)( 9. TF e
= F T T W)

3D _ D
' " 4T

x—y=




43.

44.

ALTERNATE:

Downstream (D)  Upstream{U)
T = 1 : 2
5 - 2 : 1

Sp*Sy _ 2+1_3
2 2 2

g 1
2 2
3 : 1
(b) ATQ

Speed = Dls‘tance
Time

Downstream speed (3T F fron % 7fa)

4
=x+ty= g-=8km,fh

Upstream speed(:T0 % fawda faon o

36
M) = x-v = -6=6km;’h

x+vy=8km/h -
x-y=06km/h
Solve equation {i} and (il

x=7 km/h.

v = 1 km/h.

:, Speed of the current is = 1 km/hr.
d) ATQ

Speed of current( 91 F T ) v’

= 4km/h

Distance = 12 km.

Speed in upstream( 9 % fawdia fram §
M) = (x - v} km/hr.

Here 'x is speed of boat in still water
(9= =/ ® 19 =y )

x = 6.4 kmm/hr.
Speed in dowstream( ¥ % fan ¥ 7fa)
=(x+y}=64+4=104 km/h

) _ Distance

. Time = Speed

. 15 150

Time = 151 =104

7 -
= 1 hour 26 13 minutes
. {d} ATQ

27 )
= .. i
9 iib

46,

47,

up stream

3 4
x+y  x-y
S5x - Oy = 4x +4y
x=9 .. (i1)
Put this in equation (i)
60 60 27
10y "8y " 2
o 27 27 wm
—_— = - =1
r 5 Yy 5 or y fhr
{c) ATQ
Downstream speed( ¥ % Tem o nfa)
d
x+y=é' ord=3x+ g oonennnn ii
Upstream speed(sT@ # fawda frm
dx2
nfa) = x-y= =
or d = E[x e T ITOOU 1

Compare both the distance(FH A #

i
o B T3+ yh= S {x- Y

6x+ By=Tx-T7y

x= 13y )

Hence, y = Speed of current(¥M =¥ 7fd)
= 1.5 km/h

x =13x 15

¥ = 19.5km/h {speed of boat in still water )

(T == o 9= F1 1)

{a) Let speed of Boat is V and

stream is U’

(q T F TV SIR aw wem

U'#)

Dowmn stream

(urm % frole) (v @ fRew W)

Time — 5x60+40 3x60
340 180
17 9
Speed —» 9 17
CoVu_17
v-Uu 9
=7
V_17+9 26 13
U 17-9¢ 8v 4
48. {a)Given
Speed of boat down stream =
15 km/h

(9w fem & T BT =)
Speed of boat current = 3 km/h
(W0 | @™ w AR

Speed of boat in still water =
12 km/h

(v e ° T| B )

time taken at upstream

49.

50.

51.
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(am = fawim & T
15

T 12-3

15 .
= "g—h =1 h 40 min
time taken at downstream

(s =t fem o e wHE)
13

T 1243
total time = 2h 40 min
(a) Let speed of boat = x

speed of stream = ¥
According to question,

75

= 1h

X_y=3:>x—v=25 ..... (i)
60 N
_x+y—1.5:>x+y—40 ..... (ii)

From (i) & (ii)

x=32.5 km/ph

(d}If flows at 4km/h.

(afz v 4 feitreer)

So in 15 minutes it travels » 1

km.
(zafer 15 fire # ==t W g
So vol. of water entering the
sea in 15 minutes
(zafere 15 foz & wqg ® TR wE)
=8 x4 x 1000
= 32000 m?
{b)Let speed of man and
stream is V', ‘U’
(T R WA VIR R )
= U’ #)
4

v+U VU
[Travelling distance in same
time]
(t% % g9a § T8 it W 30)
5V -5U =4V +4U

v 9
V=9u = — =~

i 1
Letu=x, v=9x

The

35 [L,l]_g
ox \5 4) 2

5.9 .,
= %% 20"

3
x= i 0.75
Speed of stream=1 x 0.75

= 0.75 km/hr.

(am ®i )




